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Question Number : 1 Question Id : 630680419009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
808 BS® Era)-DRNE tiresgeS® DO Resel AHrE HANS Ao NA?

Options :

1. ¥ G386 SoficiSo
2. & g0d
3. ¥ 28

4, % Py

Question Number : 1 Question Id : 630680419009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the first European nation to join the Trans-Pacific Partnership?

Options :



1. ¢ United Kingdom
2. * Italy
3. ¥ Germany

4. % France

Question Number : 2 Question Id : 630680419010 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Who of the following tennis players was named ITF World Champion 20227

Options :

1. * Daniil Medvedev
2. ¥ Rafael Nadal

3. * Novak Djokovic

4. * Carlos Alcaraz

Question Number : 2 Question Id : 630680419010 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

808 BAR §srHoS® A3 ITF 555055 57020508 20220 30SARgE0?

Options:

1. % GAAHS AR
2. ¥ oond BSOS
3. ¥ For§ 28D

4, % s"§65 ©)o°E



Question Number : 3 Question Id : 630680419011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

TR 88 Fad Ared Ky 2023 5065652)0@6 808 HEOOS® B(Q) BISA()?

L. BB 2385558 2023° grER%Fo NYiarolod.

II. 8 BooE) B - 'TFoehs @), 055, HATTaso GE), 055y

Options:

1. % 1 Srgdds
2. % I Sregado
3. ¥ 1 35005 1T Bocsr

4. % ] ooQ S 11 5°R 525

Question Number : 3 Question Id : 630680419011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the Voice of Global South
Summit 2023?
I. The Summit was hosted by India in January 2023.

I1. The theme of the Summit was - ‘Unity of voice, Unity of purpose’.

Options:

1. % OnlyI

2. % Only II

3.¥ BothIandII

4. % Neither I norlIl



Question Number : 4 Question Id : 630680419012 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

@S Sundns 86 ¢gI8AS (ACTO) S 2023 B80S 2300od. ACTO AN Kgy dvresh $9A &od.
800 AT°0S° B BS°® 25e3 5°eH?

Options:

1.4 @Qo@ﬁ’&?

2. % ooas®

Question Number : 4 Question Id : 630680419012 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Amazon Cooperation Treaty Organization (ACTO) Summit 2023 was held in Belem. The ACTO

consists of eight member countries. Which among the following countries is NOT one of them?

Options:

1. % Argentina
2. * Colombia
3. * Guyana

4. % Brazil

Question Number : 5 Question Id : 630680419013 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

DMH-11 938 808 sr8¢° & $080&S° 22580 S B0Hbkd 3TR&E?



Options :

1. % 5280
2. % %8
3. ¥ Qhprargen

4. ¥ es5een

Question Number : 5 Question Id : 630680419013 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
DMH-11 is a Genetically Modified hybrid of which of the following crops?

Options :
1. # Wheat
2. * Rice
3. ¥ Millet

4. % Mustard

Question Number : 6 Question Id : 630680419014 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

$08 e3S° BRHS-L1 DR D2aHSoorr DRATDES T5rS0 .

Options :

1. % LVM3 M4
2. ¥ PSLV-C57
3. % PSLV-C48

4. % GSLV MK II



Question Number : 6 Question Id : 630680419014 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following vehicle successfully launched the Aditya-L1 mission.

Options :

1. % LVM3 M4
2. ¥ PSLV-C57
3. # PSLV-C48

4. % GSLV MK 1II

Question Number : 7 Question Id : 630680419015 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SoBairS 3R 8 §o& DSELS” DB S0 &BLwoR BN (S) GAE RIS 8d-dew Fode o

Dg"@o:ﬁ)o&?

Options:
1. % ChaSTE
2. % APXS
3. # ILSA

4. + LIBS

Question Number : 7 Question Id : 630680419015 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following payloads onboard Chandrayaan 3 confirmed the presence of Sulphur (S) on

the lunar surface through unambiguous in-situ measurements?



Options :
1. % ChaSTE
2. % APXS
3. % ILSA

4.+ LIBS

Question Number : 8 Question Id : 630680419016 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

PEBADH SASS GES RS B Koo 808 HERSOS® HA(R) HJSA(D)?

I 28 SASS HGES EDAS o, 2019 3o° o)en JoHwéod.

I1. 88 $6S EBHS HE NGES 582N (WFME) 98059 o0 10 Kodefyore aren shoeth dobhewdod.

Options:

1. % 1 Sogg
2. % 11 Srgsio
3. ¥ 1 5580 1 océr

4. % [ 5o S I 500 5o

Question Number : 8 Question Id : 630680419016 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the National Medical Commission,
India?

L. It has been constituted by the National Medical Commission Act, 2019.

II. It has been granted the World Federation for Medical Education (WFME) Recognition Status for

a tenure of 10 years.

Options :



1. % OnlyI
2. % Only II
3.¥ BothIandII

4. % Neither I norll

Question Number : 9 Question Id : 630680419017 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

3656 BYGAS I8, e DRy (WINDS)S 0200800 S0 HE0S0S” HB(D) $FSA(D)?
L. & 8500 2 201885° roRocseadeold.

1. &AD §oé NDZROPAD, FeH D033 08T F°g ool

Options :

1. % 1 Sregds
2. ¥ 11 Sregado
3. % 350050 IT Bocsr

4. % 1o S 11 500 525

Question Number : 9 Question Id : 630680419017 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Weather Information Network Data
Systems (WINDS)?
L. This initiative was launched in July 2018.

I1. It was launched by the Union Ministry of Agriculture and Farmers Welfare.

Options:

1. % OnlyI



2.% Only II
3. % BothIand]Il

4. % Neither I norlIl

Question Number : 10 Question Id : 630680419018 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QAR D) DErow ' SEFESTR GPES HADE O 0SS T FBoRodod?

Options :

1. # 8%, Heno2 K03 sofess T
2. ¥ 305ree, 99 @2326@@ D08 o
3. ¥ ey oS o

4, # SrRE 25000, SIS Ho@eS o

Question Number : 10 Question Id : 630680419018 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Poshan Bhi Padhai Bhi' initiative was launched by which Ministry of the Government of India?

Options :

1. * Ministry of Health and Family Welfare

2. ¥ Ministry of Women and Child Development
3. #* Ministry of Education

4. # Ministry of Social Justice and Empowerment

Question Number : 11 Question Id : 630680419019 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Annual turnover should not exceed Rs in order to avail the benefits of the National Pension

Scheme for Traders.

Options :

1. # 25 lakh
2. ¥ 50 lakh
3. % 1 crore

4. 1.5 crore

Question Number : 11 Question Id : 630680419019 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Ty 50 @D 2R Do PAFBT VD Toloihsd Q% &FNE & Q SOIETEED.

Options :

1. % 25 oFe
2. % 50 ofen
3. % 18°%3

4.4 1.5 %

Question Number : 12 Question Id : 630680419020 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BORETSE HE 5°0HBBR IV wolk RS LTS B0 DTN Ko TarIen, By 80 Urdrofods rsres $i®

K8 (SPI) $5780 rEelsod® edfsds SPI 5650 9 &) oo9o/UT H&?

Options :



1. % 380
2. ¥ %30
3. % BN o

4. % 50866

Question Number : 12 Question Id : 630680419020 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which state/UT had the highest SPI score in India as per the Social Progress Index (SPI) for States

and Districts made by the Institute for Competitiveness and Social Progress Imperative?

Options :

1. #* Sikkim

2. ¥ Puducherry
3. ¥ Tamil Nadu

4. # Chandigarh

Question Number : 13 Question Id : 630680419021 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

G Dy HoPe @RI & @EEEAID S Do I0HERS U HaHesso 2022 Showb &°
LS 208 6r5)S Qrow ESA TN I8,

Options :

1.4 3, ow:yéaé;‘%
2. ® aﬁaacﬁae’i_ Seeedse

3. % 5565 g6



4. % 5663, 88

Question Number : 13 Question Id : 630680419021 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In November 2022, the Government of India constituted a High Level Committee strengthening

the Assessment & Accreditation of Higher Educational Institutions under the Chairmanship of

Options :

1.+ K. Radhakrishnan
2. ® Mridul Hazarika
3. # Bharat Bhasker

4. * Sudhir K. Jain

Question Number : 14 Question Id : 630680419022 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SAKSHAM 88306 3038300 88)30R DiHansd 0200802 808 HELSOS® HB(D) HFSA(D)?

I. SAKSHAM (Rs5058¢30h e0msdyé o°86 $6 Somsnd 3rd odE008)R) Sogd es8°tf5, 280020 HoZeH
08 T FPToDood.

I1. & &S S0)ofi Freharancd SASS anderd e L0 b AR Q0.

Options:

1.V 1 Srggd
2. % 11 Srgsho
3. % 155008 1T Gocsr

4, % [ 5o Soe 11 520 5o



Question Number : 14 Question Id : 630680419022 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding SAKSHAM Learning Management
Information System?

I. SAKSHAM (Stimulating Advanced Knowledge for Sustainable Health Management) was launched
by Union Ministry of Health and Family Welfare.

I. This digital learning platform has been developed by the National Institute of Open Schooling.

Options :

1.4 Only I

2. % Only II

3. # BothIandII

4. % Neither I norII

Question Number : 15 Question Id : 630680419023 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

280D daeg Ageso 20208 020509 80 HEOSOS® A(R) KISA()?

1. & JgrcSo Jury NT7Ee0 @A) BT YSBIEY), RIBEEEID TR0’

I1. &8 Aerdo 98 $38 Qyuares TSR @R BoHoR HS5E Ky .

Options :

1. % 1 aSrggd
2. % 11 Srgdo
3. ¥ 1 5805 11 Bocér

4. % [ 5o S I 500 5950



Question Number : 15 Question Id : 630680419023 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the National Education Policy 20207
I. This Policy proposes the revision and revamping of all aspects of the education structure.
I1. This Policy lays particular emphasis on the development of the creative potential of each

individual.

Options :

1. % OnlyI

2. % OnlyII

3. ¥ BothIandII

4. * NeitherInorlII

Question Number : 16 Question Id : 630680419024 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In October 2023, who became the first Indian man to win Asian Games 3000m steeplechase gold?

Options:

1. # Avinash Sable

2. * Tajinderpal Singh Toor
3. ¥ Gulveer Singh

4. % Murali Sreeshankar

Question Number : 16 Question Id : 630680419024 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

@5%6 20238°, 0% §ée 3000 ooy PSIE Ko PGS e ZTSBAHE SEL?

@

Options :



1. ¥ @drar rad
2. % 2oibard dob &b
3. % &@55 dob

4. % 559 3056

Question Number : 17 Question Id : 630680419025 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
B0 00NN &' 2023 5758 ¢5°8 00 &® 228008.

Options :

1.9 33)
2. ® wsoe
3. ¥ &P

4. ® 8%

Question Number : 17 Question Id : 630680419025 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Asian Champions Trophy 2023 hockey tournament was held in .

Options:

1. ¥ Chennai
2. # Jakarta

3. * Hangzhou

4. # Tokyo



Question Number : 18 Question Id : 630680419026 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&S ae 5°) S08 é&ﬁ@e KHooo EIH &ol?

Options :

1. % 25Go0n
2. % 50d

3. ¥ 558

4, % HE 2

Question Number : 18 Question Id : 630680419026 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Deep Grace Ekka is associated with which of the following sports?

Options :

1. * Badminton
2. % Kabaddi

3. ¥ Hockey

4. * Football

Question Number : 19 Question Id : 630680419027 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
2021 205508 BS ey Do Geh T8 SRS ©9E5050 @arhe” adth K¢ 0okugrdh?

Options :



1. % 3 o5&
2. ¥ %856 g dofi RSwyS
3. % 2o $802300 NDSSTO

. % Q05o¥ Seres

Question Number : 19 Question Id : 630680419027 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Who was honoured with the Tenzing Norgay National Adventure Award in Life Time Achievement

category for the year 20217

Options :

1. * Naina Dhakad

2. ¥ Kunwar Bhawani Singh Samyal
3. # Shubham Dhananjay Vanmali

4. # Priyanka Mohite

Question Number : 20 Question Id : 630680419028 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of National Games 2022?
I. Maharashtra won the highest number of overall medals.

I1. Services Sports Control Board won the highest number of gold medals.

Options:
1. % OnlyI
2. % Only II

3.% BothIand Il



4. % Neither I norll

Question Number : 20 Question Id : 630680419028 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

20 §esen 2022 6065652)0@5 808 8BS HR(D) BIIA()?

L. ShiForgy @50 Sngod® Heseen APQood.

I1 3030 %8 ) EoT’S &°6 eoef5dE 2omeh HATed GedEd.

Options:

1. % 1 Srg8ed

2. % I Srggdd

3. ¥ ] 3005 II Bocér

4. % 1o o 11 500 5250

Question Number : 21 Question Id : 630680419029 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

808 TOS® AN K26S° @S @i ) 2022 GeoSHH?

I. P &)

II. 8 H3S5r0

Options :

1. % 1 Srged

2. ¥ I S8l

3. # [ 5005 II Bocér

4, # [ 5o S 11 520 5o



Question Number : 21 Question Id : 630680419029 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Who of the following won the Arjuna Awards 2022 in kabaddi?
I. Shushila Devi
I1. Sakshi Kumari

Options :

1. % OnlyI

2. ¥ Only II

3. ¥ BothIandII

4. % NeitherInorlII

Question Number : 22 Question Id : 630680419030 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
SE B PO &b e SesoS” B0 &0,

Options:
1. % 62
2. # 68
3.%72

4.v 78

Question Number : 22 Question Id : 630680419030 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Nitrogen gas makes up about percent of the earth's atmosphere.



Options :
1. % 62
2. # 68
3. % 72

4.4 78

Question Number : 23 Question Id : 630680419031 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Maximum Prescribed Concentration of copper in Drinking water is ppm.

Options:
1.% 0.3
2. % 30
3.43.0

4. % 300

Question Number : 23 Question Id : 630680419031 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
HABS® DTSR SoHadk T (185 ol ppm.

Options :
1.% 03
2. % 30
3.43.0

4. % 300



Question Number : 24 Question Id : 630680419032 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
BT TG0 SO NBSN&GOR.

Options :

1. % 550
2. ¥ 258
3. ¥ ea3eesd

4, % BH&S ()

Question Number : 24 Question Id : 630680419032 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The Tehri Dam is built on the river

Options :

1. # Subarnarekha
2. ¥ Bhagirathi

3. * Damodar

4. % Tapi

Question Number : 25 Question Id : 630680419033 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The pH value of sodium hydroxide is about

Options :

1.% 6



4.4 14

Question Number : 25 Question Id : 630680419033 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

R°Ga%o @36 PH Dens Kosird :

Options :
1.% 6
2. % 4
3.% 2

4. % 14

Question Number : 26 Question Id : 630680419034 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct regarding sulphur dioxide?
L. It is produced by combustion of fuels like coal in power plants.

I1. It can cause respiratory problems, including permanent lung damage.

Options :

1. % OnlyI

2. % Only II

3.¥ BothIandII

4. % Neither I norlIl



Question Number : 26 Question Id : 630680419034 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

D235 g G Kowofow) Sod Fe3S° KBS HB?

I 28 HX6 grogs® FtH Do voGTe S0 wIT> B eHehod.

I1. 98 T3 0BHO Sghodd® i3 TIRE™Y Kehddgwh EDAHR.

Options :

1. % 1 Srged

2. % II Srggadd

3. ¥ [ 50050 1T Socse

4. % [ 5o S I 500 5o

Question Number : 27 Question Id : 630680419035 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SINS) DL @8 Sob & egho BN Jire Soreo?

Options :

1. % ¢35 essio
2. % 85295 e550
3. % ¢85 e

4. ¥ 38T ons essgro

Question Number : 27 Question Id : 630680419035 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ant sting is a natural source of which of the following acids?



Options :

1. * Acetic acid
2. % Oxalic acid
3. * Citric acid

4. ¥ Methanoic acid

Question Number : 28 Question Id : 630680419036 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A& F°Ho Hg H5:pod.

Options:

1. ¥ ODBrES

Question Number : 28 Question Id : 630680419036 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Goiter is caused by the deficiency of

Options :
1.+ Iodine
2. % Iron

3. ¥ Calcium

4. * Potassium



Question Number : 29 Question Id : 630680419037 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following fungi are the source of antibiotics?
I. Puccinia

IL. Penicillium

Options :

1. % OnlyI

2. ¥ Only II

3. ¥ BothIandII

4. % NeitherInorlII

Question Number : 29 Question Id : 630680419037 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

800 TBS° & FDogren 0roduare5H% Sxreo?

L. D8

II. 2ydaHo

Options :

1. % 1 Srg8ed

2. ¥ I S

3. # 10050 II Socse

4. % [ 5o S I 500 5950

Question Number : 30 Question Id : 630680419038 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
What is the molecular formula of acetic acid?

Options:

1. ¥ CH300H

2. ¥ CH3COOH
3. ¥ C,H500H

4. % CoHsCOOH

Question Number : 30 Question Id : 630680419038 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QRS B0 ©ER FPETYER d0E?

Options :

1. ¥ CH300H

2. ¥ CH3COOH
3. ¥ C,H5O0H

4. % C,HsCOOH

Question Number : 31 Question Id : 630680419039 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a source of iron?
I. Orange
II. Apple

Options :
1. % OnlyI

2. ¥ Only II



3. % BothIand]Il

4. * Neither I norlIl

Question Number : 31 Question Id : 630680419039 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
$08 ES° BN G0 Srwo AQ?

I. o802

II. &3S

Options :

1. % 1 Srgds
2. ¥ 11 S
3. % [ 350050 I Socsr

4, ® [ 5o Soe 11 520 5o

Question Number : 32 Question Id : 630680419040 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

23800 Rt H020002) 808 8S® NA(D) HJSA(R)?

L. 20 05y FOTrES® GdATTNosweHod.

1. 98 ofrotrd&ed® S 2.8 Sego.

Options :

1. % 1 aSrggd

2. ¥ 11 &7



3. * 100805 II Sodése

4, % [ 5o S I 520 5o

Question Number : 32 Question Id : 630680419040 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding baking soda?
I. It is used in the manufacture of borax.

I. It is also an ingredient in antacids.

Options :

1. %# OnlyI

2. ¥ Only II

3. ¥ BothIandII

4. * Neither I norlI

Question Number : 33 Question Id : 630680419041 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

808 BS® BITRNEOH BoBS 30 AQ?

I. 28%0%

II. OrEdHR

Options :

1. ¥ 1 Srgg
2. % I e

3. * [ 0050 II Sodéae



4, % [ 5o Soe I 520 5o

Question Number : 33 Question Id : 630680419041 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following plants belongs to the gymnosperms?
I. Sequoia

II. Eucalyptus

Options :

1.4 Only I

2. % Only II

3. ¥ BothIandII

4. * Neither I norlII

Question Number : 34 Question Id : 630680419042 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
QD ALGETed GNEPHSE E S ISR H5°8o, @) $5300e0 08 O PITTe H&IPro S0l

éé%oézzcgoao?

Options:

1. # Y% Koo HSraren
2. % BPONS, l0F°e0E 000N een Larmren
3. ® 2%26‘8“@ R00HS RSP

4. ¥ 30R)) ool HSTTren

Question Number : 34 Question Id : 630680419042 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Forest Fires are categorised under which of the following group of hazards, as per the final report

of the High Powered Committee on Disaster management?

Options :

1. * Geologically related Hazards

2. ¥ Chemical, Industrial and Nuclear Hazards
3. * Biologically related Hazards

4.+ Accident related Hazards

Question Number : 35 Question Id : 630680419043 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

808 TBS® ST O HSTEo NA?

L. 5y

IL asees DB

Options :

1. % [ Srgd

2. ¥ 11 S

3. # 1350005 II Socér

4, ® [ 5o Soe I 520 560

Question Number : 35 Question Id : 630680419043 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a human made hazard?



I. Drought

II. aviation disaster

Options :

1. % OnlyI

2. ¥ Only II

3. ¥ BothIand]Il

4. % NeitherInorlII

Question Number : 36 Question Id : 630680419044 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PEBRFS® Inefo JFTeg0S° T°Ho EDFNOD HECD @XISFo God.

Options :
1.48
2. %18
3. %28

4. % 38

Question Number : 36 Question Id : 630680419044 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In India, about per cent of the total area is prone to cyclones.

Options :
1.48
2. # 18

3. % 28



4. % 38

Question Number : 37 Question Id : 630680419045 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
QN AYETED RNTPRSE 5083 HB AIQE K580, 80 TSS® Y, ?@ﬁg;%@ Kowoes HIrere 8ol

26@3’808520&5& N?
L. §°05500%e0 08050 2088 Hawasten

I1. $eérrenyen SH80H DL HITPe

Options :

1. % 1 arggd
2. ¥ 11 &7
3. % 1 5805 II Bocér

4. % [ 5o S I 500 5950

Question Number : 37 Question Id : 630680419045 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per the final report of the High Powered Committee on Disaster management, which of the
following is/are categorised under Water and Climate related Hazards?
I. Landslides and Mudflows

II. Heat Wave and Cold Wave

Options :
1. % OnlyI
2. ¥ Only II

3. % BothIand]Il

4.



# Neither I norII

Question Number : 38 Question Id : 630680419046 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding drought in India?
I. Around 68 per cent of India’s total area is prone to drought.

I1. In 2001 more than eight states suffered the impact of severe drought.

Options:

1. % OnlyI

2. % Only II

3.¥ BothIandII

4. % Neither I norll

Question Number : 38 Question Id : 630680419046 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

EBBFoS® EHPH Howofo) 0B 78S° AB(D) HJSA()?

L. 2rEBR%0 3o FroBoS’® 68 T°Bo EPE H)ehed.

I1. 200165° AN Eob3 NEYD ToGPI0 @é@_aé B PePara)) Sadedzeomn.

Options:

1. % I Sregads
2. % 11 Srggads
3. ¢ 1 50050 1T Bocér

4, # [ 5o Soe I 520 5o



Question Number : 39 Question Id : 630680419047 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of major disasters in India since

19707

I. Cyclone and tidal waves killed approximately 20,000 people in Andhra Pradesh on 19th
November, 1977.

I1. Cyclone and tidal waves killed approximately 9,000 and 18 million people were affected in

Odisha 29th and 30th October 1999.

Options :

1. % OnlyI

2. % Only II

3.¥ BothIandII

4. % Neither I norlIl

Question Number : 39 Question Id : 630680419047 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

1970 20 grESEFoS® Kogfods 2 JHehe éodﬁéaoe?ﬁ & §08 HEOSS® HA(R) JJIB(D)?

I. e 3520050 370 @o© (G)N) SUesormr BoFHATS® SkHoth 19, 1977 & Kessrdd 20,000 ol

INStotaclotvov

II. 26%°S° 1999 @5%25 29 00050 30 SEeS® &hard 00k 3P0 @ (G3)N) sP8esom s 9,000
5508 $$5eBomdh HBa% 18 DAAH 506 $rRey SIS,

Options :

1. % 1 Srggd



2. % I Sregadd
3. ¥ 1 35005 1T Bocsr

4. % [ 5o S I 500 5o

Question Number : 40 Question Id : 630680419048 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PEFEER0T SEN0 GOPE G POy arerdeso H08reaos” T &GS EOHEG0EN08.

Options :
1. % 0.3
2.9 0.03
3. %30

4. = 30.0

Question Number : 40 Question Id : 630680419048 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Normally carbon dioxide gas forms about percent by volume of the atmosphere

Options :
1.% 0.3
2.+ 0.03
3. %30

4. % 30.0

Question Number : 41 Question Id : 630680419049 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PESRFS® A (seniy derdes 00% Aahoes) Ko S® e3r0050E08.

Options :
1. * 1964
2.9 1974
3. % 1984

4. * 1994

Question Number : 41 Question Id : 630680419049 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Water (Prevention and Control of Pollution) Act was passed in India in

Options :
1. % 1964
2.4 1974
3. % 1984

4. % 1994

Question Number : 42 Question Id : 630680419050 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
19896° @950¢5°8 SN S7roBoHS §PE°s*S 808 TBS® BB sS0ésd Gol?

Options :

1. ¥ HE’S 000 GBS QAT AoHoSokteS

2. % RS ade) GErrerd AoHo&odoths



3. % DDT QRGP dobo@ostes

4. ¥ 5288 &5 §e3odBED DR GTTrod Aobo@okmds

Question Number : 42 Question Id : 630680419050 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Montreal Protocol, which came into effect in 1989, is associated with which of the following cause?

Options :

1. * To control the use of petrol and diesel

2. * To control the emission of greenhouse gases
3. # To control the use of DDT

4. ¥ To control the emission of ozone depleting substances

Question Number : 43 Question Id : 630680419051 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
PESRFS R 22B0DH @& Agrso (1988) RwS Froered TE0 B0 INTR) V) DA

Options :
1.4 33
2. % 37
3. ¥ 63

4. % 67

Question Number : 43 Question Id : 630680419051 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The National Forest Policy (1988) of India has recommended percent forest cover for the

plains.

Options :
1.+ 33
2. ® 37
3. # 63

4. % 67

Question Number : 44 Question Id : 630680419052 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

808 8S° AOFTR TAH) NQ?

I D3

IL s6)S S )b

Options :

1. ¥ 1 Srgg
2. % I sSrgdo
3. % [ 5805 II Bocér

4. % [ 5o S I 500 5950

Question Number : 44 Question Id : 630680419052 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a greenhouse gas?
I. Methane

II. Carbon monoxide

Options :



1.4 Only I
2. % Only II
3. #* BothIandII

4. % Neither I norll

Question Number : 45 Question Id : 630680419053 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are correct regarding Carbon monoxide?
I. It is produced as a result of incomplete combustion of carbon.

II. It is the most harmful greenhouse gas and also responsible for ozone depletion.

Options:

1.4 0OnlyI

2. % Only I

3. #* BothIandII

4. % Neither I norll

Question Number : 45 Question Id : 630680419053 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

SER ST IEH Ko2ofod §od FES® AB(D) HJSA(R)?

L. 98 $6)0 ) @dosg (s PO GeHE Jabehod.

I 90 e9¢f50e8 SFASEFS HOTTR o) So0a &2 Seadssh S seso.

Options :

1. ¥ 1 Soggdo

2. % 11 Srgslo



3. * 100805 II Sodése

4, % [ 5o S I 520 5o

Question Number : 46 Question Id : 630680419054 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

DAPINES @8BS Gasro (BOD) HE5RHS Ho2080) Sob e HSSE &?

. A&3S°A BOD $8sre90 @930 ABS ) Rofod Horgo o,

I1. X3e5)E0s e38 BOD Qensd 17 Sor @oesEod] &y cotnod.

Options :

1. ¥ 1 Srggads
2. % 11 Srggads
3. % 50050 IT Socsr

4, % [ 5o Soe I 520 5o

Question Number : 46 Question Id : 630680419054 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are correct regarding the consequence of Biochemical Oxygen Demand
(BOD)?
I. The amount of BOD in the water is a measure of the amount of organic material in the water.

I1. Clean water would have BOD value of 17 or more.

Options :
1.4 Only I
2. % Only II

3. % BothIand]Il



4. % Neither I norll

Question Number : 47 Question Id : 630680419055 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a disadvantage of CNG over petrol or diesel?
I. CNG cannot be adulterated like petrol or diesel.

I1. Ensuring uninterrupted supply of CNG.

Options:

1. % OnlyI

2.% Only II

3. #* BothIandII

4. % Neither I norll

Question Number : 47 Question Id : 630680419055 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

808 >BS® HG'S Sor GeSp CNG g, HBSTS O?

L. CNG 286 Sor s e 58 dahwcss.

II. CNG G3%); QoBTrah JEHT°% dgBoicte.

Options:

1. % I Sregads
2. ¥ 11 S8y
3. % 50050 IT Socsr

4, # [ 5o Soe I 520 5o



Question Number : 48 Question Id : 630680419056 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
R0y, S8gareade eisoirdeago &° &ob.

Options :
1. % e
2. % 253k
3. % SesddE

4, c°2;3§°5

Question Number : 48 Question Id : 630680419056 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Sariska Wildlife Sanctuary is located in

Options :

1. ® Assam

2. ¥ QOdisha

3. #* Madhya Pradesh

4. ¥ Rajasthan

Question Number : 49 Question Id : 630680419057 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8 8%H0 e Eko B T8 ok, €@ BEE 0D (HFosos.

Options :

1.9’”@@5



2. % 5526
3. % Sayiocs

4, % FHod

Question Number : 49 Question Id : 630680419057 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The fresh juice of its leaves is a cure for earache. Identify the medicinal plant.

Options :

1.4 Arjun

2. # Kachnar

3. # Sarpagandha

4. % Tulsi

Question Number : 50 Question Id : 630680419058 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
X:emoé 350800 52 S 330655 G PSSO PP SPRFPOOTPL) oerEd.

Options :

1. # Hord
2. ¥ 5575
3. ¥ IS

4. % o0

Question Number : 50 Question Id : 630680419058 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The part of the Himalayas lying between Satluj and Kali rivers is known as Himalayas.

Options :

1. * Punjab
2. ¥ Kumaon
3. ®* Nepal

4, * Assam

Question Number : 51 Question Id : 630680419059 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

808 TS O wo® 'NQ - GHSR' PO DG GH?

L §%0 - g

IL R - Frescres

Options :

1. ¥ 1 Srgg
2. % I sSrgcdo
3. % [ 5805 II Bocér

4. % [ 5o S I 50 5950

Question Number : 51 Question Id : 630680419059 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘river - tributary’ is/are correctly matched?

I. Godavari - Wardha



II. Krishna - Pranhita

Options:

1.4 Only I

2. % Only II

3. ¥ BothIandII

4. % NeitherInorlII

Question Number : 52 Question Id : 630680419060 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

PEBRFS 808 T3S° e, Feh AT ©FEorr &) TPRI0 B?

L. Sgob

I1. $&J6E

Options :

1. % 1 arggd
2. % I sSrgdo
3. ¥ 1 5805 11 Bocsr

4. % [ 5o S I 500 5950

Question Number : 52 Question Id : 630680419060 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following states of India are rich in minerals and coal deposits?
I. Jharkhand
I1. Chhattisgarh

Options :



1. % OnlyI
2. % Only II
3.¥ BothIandII

4. % Neither I norlIl

Question Number : 53 Question Id : 630680419061 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the coastal plains of India?
I. The northern part of the western coast is referred to as the Northern Circar.

I1. The southern stretch of the western coast is referred to as the Malabar coast.
Options :

1. % OnlyI

2. ¥ Only II

3. #* BothIandII

4. % Neither I norll

Question Number : 53 Question Id : 630680419061 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

PESEFoSTA BB HerareH K020800) 808 FBS® HA() XBSA()?

I $58y5% &8 BoS* et armr) ewests Koo6 (Circar )m Srdesb.

I1. $9)65 BBoS' &58es FroerR)) Heerd BBorr KPR

Options :



1. % 1 Sregdds
2. ¥ 11 Sregado
3. % 35005 IT Socsr

4, % [ 5o Soe I 520 5o

Question Number : 54 Question Id : 630680419062 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

C.0300050 BHTG) YO Kowodowd 808 HEVSOS® AA() JHJSA()?

L. 55 G s@0” 200 €M $od 25 HYTo STEChY JPoerd® Ba) Do Gotrax.

I1. &8 9&N)OS® Aerdeao™ EAN0R OO DosTo, )P, Hod), Bo¥, .

Options :

1. % T Sregads
2. ¥ 11 Sregado
3. % 50050 IT Socsr

4, % [ 5o Soe I 520 5o

Question Number : 54 Question Id : 630680419062 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the tropical deciduous forests?
I. They are at their best in areas having more than 200 cm of rainfall with a short dry season.

II. In these forests, the common animals found are lion, tiger, pig, deer and elephant.

Options :

1. % OnlyI



2.% Only II
3. % BothIand]Il

4. % Neither I norlIl

Question Number : 55 Question Id : 630680419063 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the climate of India?
I. In the Thar Desert the day temperature may rise to 50°C, and drop down to near 15°C the same
night.

I1. In general, coastal areas experience less contrasts in temperature conditions.

Options :

1. % OnlyI

2. % Only II

3. ¥ BothIandII

4. * NeitherInorII

Question Number : 55 Question Id : 630680419063 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

PEBRFS’ IS RO Ko20G0d $od BS® KJIH H?

L. 56 20”0963 et 50°C8 1158y 00k @b T8 rars) 15°C8 HEPXER).

II. rprSesom &Y Froeren GRS Xo@{’geﬁo@@s PN DZETPFOR NI ROR.

Options :

1. % 1 aSrggd

2. % I e

3.



¥ [ 080 11 Sodése

4, % [ 5o S I 520 5o

Question Number : 56 Question Id : 630680419064 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

o S8 5595 Boz0Go S0l FBS® KB NB?

L '3rH58" @9 Hendwd Homrdd Hes weres Holi® PSSP0 T HRya.

II. 50me56 &3¢ PSS HUere Dok TS S HRITPoR.

Options :

1. % 1 Sregads
2. % 11 Srggads
3. ¢ 1 350050 1T Bocsr

4, % [ 5o Soe I 520 5o

Question Number : 56 Question Id : 630680419064 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Ganga river system?
I. The headwaters of the Ganga, called the ‘Bhagirathi’ is fed by the Gangotri Glacier.

II. At Haridwar, the Ganga emerges from the mountains on to the plains.

Options :
1. % OnlyI
2. % Only II

3. ¥ BothIand]Il



4. % NeitherInorlII

Question Number : 57 Question Id : 630680419065 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
P TergotioS R & 958 PBaE e Ho205odol?

Options :

1. % 086 21 A
2. % 2956 39 A
3. % w055 48 A

4. ¥ =955 51 A

Question Number : 57 Question Id : 630680419065 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which Article of the Indian Constitution deals with Fundamental Duties?

Options :

1. % Article 21 A
2. * Article 39 A
3. * Article 48 A

4. % Article 51 A

Question Number : 58 Question Id : 630680419066 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
P TergotioS™R) 808 & Q5 'O AEETD 8 §°G' (0hrdaro AIS §'&) A @oliHod?



Options :

1. % 05 34
2. ¥ 05 44
3. % @956 54

4. % 2055 64

Question Number : 58 Question Id : 630680419066 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Indian Constitution provides for ‘uniform civil code for the
citizens™?

Options :

1. # Article 34
2. ¥ Article 44
3. #* Article 54

4. % Article 64

Question Number : 59 Question Id : 630680419067 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
P oergotioS R e05S 8 §o8 e QA ©odpol?

Options :
1. % PSP SO IPS AT HORNTH T Py
2. ¥ pEBE¥0 SLDO AXHIPS) P KoBS FoBS AR $5HO TS L0

3. ® PERPN Dok PUEBTS HO0 SIS QR H3HO ;UXS FEHen



4. % BT GocdErEsd 5ot IAP FERers) Srods SHggHe

Question Number : 59 Question Id : 630680419067 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Article 8 of the Indian Constitution provides for which of the following?

Options :

1. # Rights of citizenship of certain migrants to Pakistan

2. ¥ Rights of citizenship of certain persons of Indian origin residing outside India

3. ¥ Rights of citizenship of certain persons who have migrated to India from Pakistan

4. # Persons voluntarily acquiring citizenship of a foreign State not to be citizens

Question Number : 60 Question Id : 630680419068 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

O oregolt ‘60655230 £5°50 808 & 2o& 'BPES - PR’ L0 B3e5T 20808 ?

1. 958 16 - Habesfy Gl DRATeS® DarSeso

IL 5056 17 - Dihe 56

Options :

1. ¥ 1 Srgg
2. % I e
3. % [ 5805 II Socér

4, ® [ 5o Soe I 520 560



Question Number : 60 Question Id : 630680419068 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following pairs of ‘Article - provision’ is/are correctly matched as per the context of
the Indian Constitution?

I. Article 16 - Equality of opportunity in matters of public employment

II. Article 17 - Abolition of titles

Options :

1.4 0OnlyI

2. % OnlyII

3. # BothIandII

4. * NeitherInorlII

Question Number : 61 Question Id : 630680419069 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
8BS ToS® Soghe 0300 3&‘5@@550&3’6 &08N0H.

Options :
1. ¥ $o°S 008

AV V4

2. % @%31303@
3. % 56y6

4, % ﬁéwéljé@

Question Number : 61 Question Id : 630680419069 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In India, the Council of Ministers is headed by the .



Options :

1. ¥ Prime Minister
2. % President

3. % Governor

4. * Vice President

Question Number : 62 Question Id : 630680419070 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S SIPSIARREAISY RoNBYT 7P N5 TS,

Options:

1. # Seenihd
2. % 208
3. ¥ e

4. % D&

Question Number : 62 Question Id : 630680419070 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Members of the Rajya Sabha are elected for a term of years.

Options :
1. * four
2. # five
3. ¥ six

4. % seven



Question Number : 63 Question Id : 630680419071 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PO Toargotio P50 D00l Toasde KEHIBRD TPRIDS TG JoHD)?

Options :
1.% 8
2.¥ 12
3. % 16

4. % 18

Question Number : 63 Question Id : 630680419071 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per the Indian Constitution, how many members of the Rajya Sabha shall be nominated by the

President?

Options:
1.% 8
2.9 12
3. % 16

4. % 18

Question Number : 64 Question Id : 630680419072 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Supreme Court of India?
I. It can transfer Judges of High Courts.

II. It can transfer cases from one High Court to another.



Options :

1. % OnlyI

2. % OnlyII

3. ¥ BothIandII

4. % Neither I norlI

Question Number : 64 Question Id : 630680419072 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

O RES oD Howofowd Sod FES® AB(D) HJSA(R)?

L 50 EHO T50HSrHo 28O S0HHeE.

IL 50 $00/% 28 TEG Sod HFE TEESH 200 Sabifo.

Options:

1. % 1 Sogg
2. % 11 Srgsio
3. ¥ 1 5580 1 océr

4, % [ 5o Soe I 520 5o

Question Number : 65 Question Id : 630680419073 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following writ is issued when the court finds that a particular office holder is not

doing legal duty and thereby is infringing on the right of an individual?

Options :
1. ¥ Mandamus

2. * Certiorari



3. ¥ Habeas corpus

4. % Quo warranto

Question Number : 65 Question Id : 630680419073 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
28 A0 TR 0“366%;5 (/s 5t10S® esr5)558) QDSOS 2rsgeen AsGocicio SE), Swrso S308° K58 K0
GQoNRRABR §° tHZowdSs)cé 808 eB3S® O O b Baberciieod?

Options :

1. ¥ $0ssdd

Question Number : 66 Question Id : 630680419074 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

P Tergotiod’ R ToR9 wrerd® S0l @00’ OB G &d?

I. 3&sen

II. $Her8tiso

Options:

1. % 1 Sregds
2. ¥ 11 Srggado

3. #* 100805 II Sodée



4, % [ 5o Soe I 520 5o

Question Number : 66 Question Id : 630680419074 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following subjects is included in the State list in the Indian Constitution?
I. Railways

II. Public Heath

Options :

1. % OnlyI

2. ¥ Only II

3. ¥ BothIandII

4. * Neither I norlII

Question Number : 67 Question Id : 630680419075 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

&3¢9 2023 ~red8, rEBFoS® 808 Trarged® AIRE TRSRLD KO0 ) TR0 AB?

I @05553¢

II. 506558983

L. e85 $3F

Options:

1. % [ %0805 II
2. ¥ [ 00 11
3. % II c%8a%» III

4. % [, II H0as» III



Question Number : 67 Question Id : 630680419075 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As of August 2023, which of the following states in India has a bicameral legislature?
I. Andhra Pradesh

I1. Madhya Pradesh

I1I. Uttar Pradesh

Options :

1. % Tand II
2. ¥ land III
3. # Il and III

4, % 1, ITand III

Question Number : 68 Question Id : 630680419076 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2011 2y 88,0 H5ebo USSR Brgrd” TS0 35008 HYE FroerG” ASVPTL.

Options :
1. % 21
2. #® 27
3. v 31

4. % 37

Question Number : 68 Question Id : 630680419076 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



As per the 2011 Census, about percent of India’s population lives in urban areas.

Options:
1. % 21
2. % 27
3. ¥ 31

4. % 37

Question Number : 69 Question Id : 630680419077 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
P Trersotiod®R O WEPS 'SHAYISD ©HSTeD, WO SHECKH WEIBen INGESS 8" H020FoISE?

Options:

1. % S0

3. % D&80kD

4. ¥ H3y0e

Question Number : 69 Question Id : 630680419077 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which Schedule of the Indian Constitution is related to 'powers, authority and responsibilities of

Municipalities, etc."”?

Options:
1. % Ninth

2. * Tenth



3. % Eleventh

4. « Twelfth

Question Number : 70 Question Id : 630680419078 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
808 83¢5° O oregolf D3Geaed HHes §°£§ 020eIE K020050u)S N20EIDD Errsrolomron?

Options :

1. % 728 Q389
2. % 733 J38¢ed
3. ¥ 745 J58¢ed

4. % 758 J58¢€9

Question Number : 70 Question Id : 630680419078 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following constitutional amendments made the provisions relating to urban local

government?

Options :

1. % 72nd amendment
2. # 73rd amendment
3. ¥ 74th amendment

4. * 75th amendment

Question Number : 71 Question Id : 630680419079 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which Article of the Indian Constitution is related to 'powers, authority and responsibilities of

Panchayats™

Options :

1. % Article 243C
2. ¥ Article 243W
3. * Article 243S

4. % Article 243G

Question Number : 71 Question Id : 630680419079 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Paela] U°23°§oﬁoe36§) N @Qs’é "Hoarah®Be wdseoren, mrdes HO0H WPEIBOR' Ko20B0)SR?

Options :

1. % 055 243C
2. % Qs 243W
3. % eQyd 2435

4. ¥ 058 243G

Question Number : 72 Question Id : 630680419080 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding local government?

I. Local government is about government that involves the day-to-day life and problems of
ordinary citizens.

I1. Local government believes that local knowledge and local interest are essential ingredients for

democratic decision making.



Options :

1. % OnlyI

2. % OnlyII

3. ¥ BothIandII

4. % Neither I norlI

Question Number : 72 Question Id : 630680419080 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

8 ez A8 HowoGowd 8o HELILS” (D) KFIA(R)?

L 8 gabesso BRIQ FFrYes K Fward BIBo 00N Hehrgees® ik Habesto.

11 Q% DmErs $00H A8 HAirado ©dd Herarsabs Agabo BRSNS ©ORERS worer ©d FrdS
PSTASKATRN (IS ISVICTAN

Options :

1. % I Sregads
2. % 11 Srggads
3. ¢ 1 50050 1T Bocsr

4, # [ 5o Soe I 520 5o

Question Number : 73 Question Id : 630680419081 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RSN 260@53 FBoRord.

Options :

1. % DDS Sog S

2.



¥ 8JoBE woiirE
3. % 3 QRSP0

4, % 98D ¥

Question Number : 73 Question Id : 630680419081 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Santiniketan institution was started by

Options :

1. %* Bipin Chandra Pal

2. ¥ Rabindranath Tagore
3. # Swami Vivekananda

4. * Aurobindo Ghose

Question Number : 74 Question Id : 630680419082 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Henry Derozio was associated with which of the following?

Options :

1. % Young Bengal Movement
2. ¥ Home Rule League

3. * Arya Samaj

4. % Ramakrishna Mission

Question Number : 74 Question Id : 630680419082 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
3R BE°RA® 808 B3S® ANS® @hwoio EDNGINH?

Options :

1. ¥ AR Borrd CoCdgedoo
2. 8 58 S Df
3. # e85 dadrezo

4. % TSgH MRS

Question Number : 75 Question Id : 630680419083 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ored ©8)200 S° LGR0N FPSESTENIGD.

Options :
1. % 1857
2.4 1858
3. # 1859

4. % 1860

Question Number : 75 Question Id : 630680419083 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Rani Lakshmibai was defeated and killed in

Options :
1. # 1857

2. ¥ 1858
3.



* 1859

4. = 1860

Question Number : 76 Question Id : 630680419084 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
808 83° 18785° erEe83 0’ esdroeseadses &0 AQ?

[. 0o S&o

II. So)50506 0 053°§

Options :

1. % 1 Srgds
2. % 11 Srggds
3. ¥ 1 35005 11 Socér

4. % [ 5o S 11 500 550

Question Number : 76 Question Id : 630680419084 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following Acts was/were passed in India in 1878?
I. Arms Act

II. Vernacular Press Act

Options:
1. % OnlyI

2. % Only II

3.



v Both I and II

4. * Neither I norlII

Question Number : 77 Question Id : 630680419085 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

3355ez) ol KNeTgsr @S S% Ho2oBod S0 ES® KISA NQ?

L. a8 $¢¥50 3R 20050 dergd) @3Rn0wrd)S XA F8) I)eR.

II. 2800 Q230e3 5800 @RrOSTAS S5ETE0rm SFTPt0 DR, WEFVIBTHOS® PTerds F°08E oo S8
$B580 @HRESA Jrood.

Options :

1. ¥ 1 Srgds
2. % 11 Srggds
3. % 1350050 I Socsr

4. % [ 5o S I 50 5o

Question Number : 77 Question Id : 630680419085 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of Mahatma Gandhi's idea of
satyagraha?

I. It emphasised the power of truth and the need to search for truth.

I1. It suggested that if the cause was true and if the struggle was against injustice, then physical

force and vengeance was necessary to fight the oppressor.

Options :
1.4 Only I

2. % Only II



3. % BothIand]Il

4. * Neither I norlIl

Question Number : 78 Question Id : 630680419086 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

1854 &y GRS SoiE) e’ 808 HERSOS® HA(D) $TSA(2)?

L. a8 HoH DTSSR0 LIPSO SBE K3zarR)) SotHHSHPoE eBowod.

II. GHrEROHR Daegersido PSRN SYo, redng DQUED Dok @old HAPRTOD (HPosiiwid TBolod.

Options :

1. % 1 Srggd
2. % I Srgdo
3. ¥ 1 5805 11 Bocér

4, ® [ 5o Soe I 520 580

Question Number : 78 Question Id : 630680419086 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the Wood's Despatch of 1854?
I. It argued that European learning would improve the moral character of Indians.
II. It argued that European learning would enable Indians to recognise the advantages that flow

from the expansion of trade and commerce.

Options :
1. % OnlyI
2. % Only II

3.% BothIand ]Il



4. % Neither I norll

Question Number : 79 Question Id : 630680419087 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Arya Samaj?
I. It was founded by Swami Dayanand Saraswati.

I1. It established schools for girls in Bengal in the later part of the eighteenth century.

Options:

1.4 0OnlyI

2. % Only II

3. #* BothIandII

4. % Neither I norll

Question Number : 79 Question Id : 630680419087 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

e385RSTELD K023050w) 808 TBS® NA(R) HGSA()?

L BRAQ Fged BOPS0d DSE Frdowrtd,

II. 98 HFANES Ferrgo X0 grifod® Bordd® wrdie §o rdTreed Fo0dod.

Options:

1. ¥ 1 Srggads
2. % 11 Srggads
3. % 50050 IT Socsr

4, # [ 5o Soe I 520 5o



Question Number : 80 Question Id : 630680419088 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PEBEToS® 30e5es DH0NE PHeTeds ° FToRosnol.

Options :
1. % 1950
2. % 1951
3. % 1953

4. % 1954

Question Number : 80 Question Id : 630680419088 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The First Five Year Plan in India was launched in

Options :
1. % 1950
2. ¥ 1951
3. % 1953

4. % 1954

Question Number : 81 Question Id : 630680419089 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

DT Dl Q) 0 odraX.

[ 355© emrairoa Hdned



II. &egers :60@@ (SN

Options :

1. % 1 aSrgd
2. % I sSrgdo
3. ¥ 1 5805 11 Bocér

4, ® [ 5o S I 5200 580

Question Number : 81 Question Id : 630680419089 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Direct taxes consist of
I. taxes on incomes of individuals

I1. profits of business enterprises

Options:

1. % OnlyI

2. % Only II

3.¥ BothIandII

4. % Neither I norlIl

Question Number : 82 Question Id : 630680419090 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
K5 DG Frods seE5E0 Re00%H0S® ProRocsnteod.

Options :

1. ¥ 90 D088 e ds



2. % 2055 HoSHY HETS
3. % &85 KoSNS HETOE

4. F JED HoBNY PHeTeds

Question Number : 82 Question Id : 630680419090 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Drought Prone Area Programme was initiated during the

Options :

1. % Fourth Five Year Plan
2. * Fifth Five Year Plan
3. # Sixth Year Plan

4. * Seventh Five Year Plan

Question Number : 83 Question Id : 630680419091 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the Industrial Policy Resolution
19567
I. This resolution formed the basis of the First Five Year Plan.

I1. This resolution classified industries into three categories.

Options :

1. % OnlyI

2. ¥ Only II

3. # BothIandII

4. % Neither I norll



Question Number : 83 Question Id : 630680419091 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

FBFNE e Boso 1956 5 0230500 808 HEOISOS® B HISE?

I. & @0*2&’)0 ANKE3 H0IRY SEPPES esprdo.

I1. & &omdio HOFHOD s Sgreor H880od0B.

Options :

1. % 1 Srgd
2. ¥ 1 7
3. % [ 5805 II Bocér

4. % [ o S I 500 550

Question Number : 84 Question Id : 630680419092 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of a socialist society?
I. The government decides what goods are to be produced in accordance with the needs of
society.

I1. The goods produced are distributed among people on the basis of Purchasing Power.

Options:

1.4 Only I

2. % Only II

3. ¥ BothIandII

4. % NeitherInorlII

Question Number : 84 Question Id : 630680419092 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

RFADKD Kssrzo D50H0S” §o8 TES® HA() HFIR(R)?

I X352 @500 @Hesomr O SO GeHE JarS” Habesto Agonipod.

I ce9)® 305208 SPPeo FafFen 38 errdorr Hze iy Hoded S0Hcéeron.

Options :

1. ¥ 1 Srggad

2. % I Srg8add

3. # ] 500% II Socér

4, % [ 5o S 11 520 5o

Question Number : 85 Question Id : 630680419093 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

$E0eg DETIOED 808 & Erared® ENwHS)?

[. T Srdo

I1. Gasomgel Ssdo

Options:

1. % I Sregads
2. % 11 Srggads
3. ¢ 1 &500% 1T Bocér

4, # [ 5o Soe I 520 5o

Question Number : 85 Question Id : 630680419093 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Government securities can be held in which of the following forms?
I. Physical form

II. Demat form

Options :

1. % OnlyI

2. % Only II

3.¥ BothIandII

4. % Neither I norlIl

Question Number : 86 Question Id : 630680419094 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following combinations of ‘Money supply aggregate - Type of Deposit' is correct?

Options :

1. # M2 - Net time deposits of commercial banks
2. ¥ M4 - Net time deposits of commercial banks
3. ¥ M1 - National saving certificates

4. % M3 - M1 + Net time deposits of commercial banks

Question Number : 86 Question Id : 630680419094 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
R D3 o - Gared E¥o' G, §08 SoonFoS® N KIIA?

Options :

1. % M2 - sredesg ergo0e NEE Kaa% &@f’a%ega



2. % M4 - sredesg ePsoHe AEY KD baredp
3. % M1 - 2e&ah 55 ARG

4. ¥ M3 - aredesg ergohe M1+580 3 &@ba%ecp

Question Number : 87 Question Id : 630680419095 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 593 OB @B 0HTAGD AATAoEo S0k Garodd HAreo NP Jovvots , BHY
IR Ao @Q §e8’rod HTredS JSrgo SOALED
Options :

1. % §e3:500, SiHe%0d, OSSO Gotnold
2. % 585@0(3, DN, %50(7" &0eNod

3. # DD, %Cﬁon" 6508008, RRNSET oo

-0

4. % 25HeHod, §e3:008, fgéoﬁ" 000l

Question Number : 87 Question Id : 630680419095 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Law of Diminishing Marginal Utility states that marginal utility from consuming each additional
unit of a commodity as its consumption , while keeping consumption of other

commodities

Options :
1. % declines, decreases, flexible
2. % declines, increases, constant

3. ¥ jncreases, remains constant, flexible



4. % increases, declines, constant

Question Number : 88 Question Id : 630680419096 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Y8 86 SEIBAS (BRO) ardes@sos” &° 020600

Options:
1. % 1954
2. # 1957
3.4 1960

4. % 1963

Question Number : 88 Question Id : 630680419096 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Border Road Organisation (BRO) was established in India in .

Options :
1. % 1954
2. #1957
3. ¥ 1960

4. % 1963

Question Number : 89 Question Id : 630680419097 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2017-188° gr8e8Q3%0 ossTdd 2OFS TP 5 AN Gol.



Options :

1. % 271 2AAHH
2. ¥ 471 DD
3. % 671 O

4. % 871 DACHH

Question Number : 89 Question Id : 630680419097 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
During 2017-18, India had about a strong workforce.

Options :

1. % 271 million
2. % 471 million
3. * 671 million

4. % 871 million

Question Number : 90 Question Id : 630680419098 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Human Development Report?

L. Since 1990, the United Nations Development Programme (UNDP) has been publishing the
Human Development Report every year.

I1. This report provides a rank-wise list of all member countries according to the level of human

development.

Options:

1. % OnlyI
2.



% Only II
3.+ BothIand]II

4. % Neither I norlIl

Question Number : 90 Question Id : 630680419098 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S @D ABBELD Ho2oGowd Sod HELIOS® HB(R) JFSA()?

L. 1990 o0, 055orzsgdR® KB s°dsEso (UNDP) 38 Hodefibo Srissd @R ARS8 $0R%8.

I1. &8 Q3BE 5255 @G Frons edrbesornr ) Sy 3w o°508 8 e @oBpod.

Options:

1. % 1 Soggdo
2. % 11 g
3. ¥ 1 5580 11 Gocés

4, % [ 5o Soe 11 520 5o

Question Number : 91 Question Id : 630680419099 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

808 8S° Beomread® & SO HRarR*R?
I. a0
IL $H

Options:

1. % 1 Sogg

2. % 11 Srgsiho



3. ¥ [ 005 II Sodéar

4, % [ 5o S I 520 5o

Question Number : 91 Question Id : 630680419099 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Telangana is drained by which of the following rivers?
I. Godavari

II. Krishna

Options :

1. %# OnlyI

2. % Only II

3. ¥ BothIandII

4. * Neither I norlI

Question Number : 92 Question Id : 630680419100 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
PERSTS H535ered Nod¥es Sogio Beorres &°R) BGS® o,

Options :

1. = 5@"’0&‘;
2. % 35S
3. % s

4. ¥ SHodoege



Question Number : 92 Question Id : 630680419100 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Pranahita Wild Life Sanctuary is located in district of Telangana.

Options :

1. * Nalgonda
2. # Nirmal

3. # Medak

4. % Mancherial

Question Number : 93 Question Id : 630680419101 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Bobase ?8965 20 05 0838 y P5°Uo, Seorres 2015 ok 2021 $E €90 of)f\ggoeﬁ*; S0 DS

ST 0B

Options:
1. % 3.95
2. ¥ 6.85
3. ¥ 9.65

4. % 12.55

Question Number : 93 Question Id : 630680419101 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

According to the India State of Forest Reports, Telangana registered an increase of percent

in forest cover from 2015 to 2021.

Options:



1. % 3.95
2.¥ 6.85
3. * 9.65

4. % 12.55

Question Number : 94 Question Id : 630680419102 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the diversity of flora and fauna in
Telangana?
I. Telangana has more than 2939 plant species.

I1. Telangana has more than 500 bird species.

Options:

1.4 0OnlyI

2. % Only II

3. #* BothIandII

4. % Neither I norll

Question Number : 94 Question Id : 630680419102 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Booread’) )EReo, 280eH2rwo SJTNS Kowodow) $08 FBS® KZKA(D) HA()?

I. Soorreads® 2939 o 0555 S0 2eHeD G0N,

II. Soormread® 5005 R HF erehenTyon.
Options :
1. ¥ 1 Smesido

2.



% 11 Srggsdo
3. % 350050 IT Socsr

4. % [ 5o S I 500 5o

Question Number : 95 Question Id : 630680419103 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2011 zarer 85,0 $5°80, Soorres Doti )8 (398 1000 5008 sPHDeH é@) .

Options :
1. % 932
2. % 970
3.+ 988

4. % 999

Question Number : 95 Question Id : 630680419103 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
As per Census 2011, Sex Ratio (Female per 1000 Males) of Telangana is .

Options :
1. % 932
2. % 970
3.+ 988

4. % 999

Question Number : 96 Question Id : 630680419104 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per Telangana State Statistics 2021, the population density of the state is persons/sq

Km.

Options :
1.9 312
2. % 342
3. # 362

4. * 382

Question Number : 96 Question Id : 630680419104 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Seorres TR (ferosten 2021 $5°80, TPRY BRSPS @38 SgEHen / sq Km.

Options :
1.9 312
2. % 342
3. # 362

4. % 382

Question Number : 97 Question Id : 630680419105 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The second phase of T-Hub (T-Hub 2.0) of Telangana was started on .

Options :

1. % 28th March 2022



2. % 28th June 2022
3. #* 25th August 2022

4. % 23rd November 2022

Question Number : 97 Question Id

: 630680419105 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Boorres T-558 (T-555 2.0) RBooE), Tocksd &8 & ZrBo)otianteol.

Options :

1. % &0y 28, 2022
2. ¥ 2~ 28, 2022
3. ¥ estip 25, 2022

4. # $S00b6 23, 2022

Question Number : 98 Question Id

: 630680419106 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the amount Disbursed under Rythu Bima in 2021 - 22?

Options:

1. % 1552 crores
2. % 1155 crores
3. ¥ 662 crores

4. % 883 crores

Question Number : 98 Question Id

: 630680419106 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

2020-21 &° Bt Dasr Sots H0DE B Ineo RPainy does?

Options :

1. % 1552 8o
2. 1155 &%
3. % 662 S

4. % 883 S

Question Number : 99 Question Id : 630680419107 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
0GRS Saab 86y K85 2020-21 Hseo, TRI0T°R FooWE By’ F°E0 0B DBFHe Yoo o
GarE lPolHSRTHR.

Options :
1. % 18
2. ¥ 21
3. % 24

4. % 27

Question Number : 99 Question Id : 630680419107 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per the Periodic Labour Force Survey 2020-21, percent of the working population in the

state are employed by the industries sector.

Options :



1.% 18
2. ¥ 21
3. % 24

4. % 27

Question Number : 100 Question Id : 630680419108 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Electricity Transmission in
Telangana?

I. As of 2019-20, Telangana has the lowest transmission loss among south Indian states.

I1. As of 2019-20, Telangana has the 4th lowest transmission loss among among the 28 states in

India.

Options :

1. % OnlyI

2. ¥ Only II

3. #* BothIandII

4. % Neither I norll

Question Number : 100 Question Id : 630680419108 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Boomresd® g HAPTPAS HowoRow) 808 TBS® KSSA(D) HB(D)?

I. 2019-20 ¢3S $Sed sy o@l’je)ef Soomres & S P el 590 Gol.

I1. 2019-20 538 grESBFoS’ 28 Trariwd” Seomres 4% ©eSie)) SRS SaPd) 90 God.

Options :

1. % T Sregads



2. ¥ 11 Sregado
3. % 350050 IT Socsr

4, # [ 5o Soe 11 520 5o

Question Number : 101 Question Id

: 630680419109 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'as/&é D8 Boorreas® &od O Q"o@ﬁo@e @000 E)NGoR?

Options :

1. % Srekms
2. % DD

3. ¥ 55059

4. ® Sodorge

Question Number : 101 Question Id

: 630680419109 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ikat saree is associated with which of the following place in Telangana?

Options:

1. # Mothkur

2. % Bibinagar
3. ¥ Pochampalli

4. % Mancherial

Question Number : 102 Question Id

: 630680419110 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Soorres o) BE HB0YSED WSRO O Hochicd HgRNTOFE?

Options :

1. # &rd
2. % e
3. # QJeE) By esd

4. ¥ 2085y

Question Number : 102 Question Id : 630680419110 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which festival is treated as a symbol of Telangana’s cultural identity?

Options:

1. # Ugadi

2. ¥ Bonalu

3. # Sammakka Saralamma Jatara

4. % Bathukamma

Question Number : 103 Question Id : 630680419111 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ra3%), B0 S K o200 808 TS HFSA(D) AA(Q)?

[. a& H020e Hoddd.

II. Sozidoee Soied rEBRTS” @&iRE KHogd” FHH E0HR.

Options :



1. % 1 Sregdds
2. % I Sregado
3. ¢ 1 35005 1T Bocsr

4, % [ 5o Soe I 520 5o

Question Number : 103 Question Id : 630680419111 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the Sammakka Saralamma
Jatara?
I. This is a tribal festival.

I1. After Kumbha Mela, it attracts the largest number of devotees in India.
Options :

1. % OnlyI

2. % OnlyII

3. ¥ BothIandII

4. % Neither I norlI

Question Number : 104 Question Id : 630680419112 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Sorred T°R.Y S0 Dozofod S0l 20" N8 (‘68%7" BSIGR0GR?
L. 0°59 e — 22000 Wew
II. 59 DAY - ol

Options:

1. % 1 Sogg



2. % I Sregadd
3. ¥ 1 35005 1T Bocsr

4, # [ 5o Soe 11 520 5o

Question Number : 104 Question Id : 630680419112 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following pairs is/are correctly matched in the context of the State symbols of
Telangana?
I. State Tree - Jammi Chettu

I1. State Flower - Tangedu

Options :

1. % OnlyI

2. % OnlyII

3. ¥ BothIandII

4. * Neither I norlI

Question Number : 105 Question Id : 630680419113 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

& S PRESOH K200 808 HERSLE® HA(R) HJIA(D)?

L &5 86 2006 £°8 o Erw wokrdd.

II. 8Qerewrd 8grd™ 886 shotkeo &ame, AYSEOS” 9l DI EA0HoB.

Options :

1. % 1 Sregds

2. % 11 Srgsio



3. ¥ [ 005 II Sodéar

4, % [ 5o S I 520 5o

Question Number : 105 Question Id : 630680419113 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the Dokra Metal Crafts?
I. Dokra is also known as bell metal craft.

II. It is widely seen in Jainoor Mandal, Ushegaon and Chittalbori in Adilabad district.

Options :

1. %# OnlyI

2. % Only II

3. ¥ BothIandII

4. * Neither I norlI

Question Number : 106 Question Id : 630680419114 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

86 Ko20ow) 808 TBS® HJKA NA?
L. BAQ K0P $05e8nt HO HEHH &P ABoedhd.

II. & Qozeso 15328° ot ool H0AH SoGgS® rgonod.

Options :

1. ¥ 1 Srgg
2. % I e

3. * [ 0050 II Sodéae



4, % [ 5o Soe I 520 5o

Question Number : 106 Question Id : 630680419114 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding Charminar?
L. It was built by Sultan Mohammed Quli Qutb Shah.

II. It's construction began in 1532 and was completed in two years.

Options :

1.4 Only I

2. % Only II

3. ¥ BothIandII

4. * Neither I norlII

Question Number : 107 Question Id : 630680419115 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

52w 86 5°85ESTS Ko20600) 808 TBS® AB(D) KISA(D)?

L. 52855500 2 2R 20158 rdoDosectodd.

II. & 52858500 Dortieh SR Doidbo O Srehy SUeTeD, P& HTETeD Sllowiio OFgormr DEKR.

Options :

1. % 1 aSrggd
2. ¥ 11 &7
3. % [ 5805 II Socér

4, ® [ 5o Soe I 520 560



Question Number : 107 Question Id : 630680419115 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in regarding the KCR KIT program?
I. The program was launched on 2nd June 2015.
I1. The programme aims at increasing institutional deliveries and reducing maternal mortality and

infant mortality.

Options :

1. % OnlyI

2. ¥ Only II

3. # BothIandII

4. * NeitherInorlII

Question Number : 108 Question Id : 630680419116 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The States Reorganization Commission (SRC) submitted its report on 30 September , and

recommended formation of Telangana state.

Options :
1. % 1962
2. #1950
3. # 1958

4. % 1955

Question Number : 108 Question Id : 630680419116 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

P9 DO c‘égeéfgééea DA (SRC) 2 A3BESD 2306 30, S $s0)0w), BLOMTed T°5HY DTN



B0 B0R.

Options :
1. % 1962
2. #1950
3. # 1958

4, % 1955

Question Number : 109 Question Id : 630680419117 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SBOores TN SBY §° JoEYW&GR.

Options:
1. % 2000
2. # 2002
3. ¥ 2004

4. ¥ 2006

Question Number : 109 Question Id : 630680419117 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Telangana Vidyavanthula Vedika was formed in

Options :
1. % 2000
2. % 2002
3. ¥ 2004

4. ¥ 2006



Question Number : 110 Question Id : 630680419118 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SBOores CGt3gesdod® JEgHe Y Gyars Sod FES° AB(D) JJIA (J)?

1. 19916° &AL AbrdN0)BS® Beorres HrEod Ho 00k SBwomre Dulad Krdof sfISRS e
3o éofg@a FrBoglocseagom.

I1. 1998¢° Seorres @eroéﬁﬁ) éoeﬁ SEBAH 0HPAS NYod.

Options:

1. ¥ 1 Srggd
2. % 11 Srgglo
3. % 15500 11 Gocsr

4. % [ 52 S I 52 5o

Question Number : 110 Question Id : 630680419118 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct in the context of the role of students in the
Telangana Movement?

I. Around 1991 two organizations, Telangana Student Front and Telangana Liberation Student
Organization were launched in Osmania University.

I1. In 1998 the Kakatiya Unit of Telangana Students Front was formed.

Options :

1.4 Only I

2. % Only II

3. ¥ BothIandII

4. * NeitherInorlII



Question Number : 111 Question Id : 630680413867 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sixboys E, G, H, I, J and L are sitting around a circular table facing towards the centre. I is the third to the left of F. T and H are the
immediate neighbours of I. L is to the immediate right of T

Match the following persons in column I with the person sitting opposite to him from column IL

ColumnI | Column II

L] T L] F

H|2Z L
My 7 |3|G

Options :

1.« I-LI-2,1I1-3

> % I[-1,1I-31IM-2

3 % 1-2. 11— 1. II-3

4 % 1-2,1I-3,1I1-1

Question Number : 111 Question Id : 630680413867 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



eschrbd erencd F, G, H, L T soboin L :1)05935 &) TS0 20 o SogrAS ediwor SPOyT . F 8 ki o
A %DKJO@G [ &0, T odain Hen 18 egm Taorara. 1 dgn Héad L GO
500 16°) 808 D0 3% [ 0c 62 Jesadrr &Pty 05_3@6 20008

abdl  |Sdall

L (I |L|F
I. |H

(=
=

Im I 1316

Options :

1.« I-LI-211-3

5 % I-1,1-3,1I-2

3 % 1-2.11-1.1I-3

4 % I-2,11-3,1II-1

Question Number : 112 Question Id : 630680413868 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In a row of 50 students, Sita is 12 from left. What is the rank of Sita from right?

Options :

1. % 421d

2 v 39‘[’11

3, % 38t



4, % 4o

Question Number : 112 Question Id : 630680413868 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

50 &00d DrFjhHe AT, B et doods 120 g"meﬁs &0, S Aol ey gvao Joes?
Options :

1. % 425

2« 39

3. % 38

4. % 40D

Question Number : 113 Question Id : 630680413869 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Eight persons H1, H2, H3, H4, H5, H6, H7 and H8 live on eight different floors such as lowermost floor is numbered as 1, floor
above it is numbered as 2 and so on till top floor which is numbered as 8.

H3 Lives floor mumber 2. Only five persons Live between H8 and H5, and both H8 and H5 Live on odd numbered floors. Only three
people Live between H3 and H4. H8 lives above H3. H6 lives above H7. HS lives above H2. Three persons live between H1 and H2.
Arrange the persons from top to bottom.

Options:

1 = H3, HS, H4, He, H2, H7, HI, H5

>  HI, HS8, H4, H6, H2, H7, H3, HS



3 = HI, H8, H4. H6, H5, H7, H3, H2

4 % HI, H6, H4, H8, H2, H7, H3, HS

Question Number : 113 Question Id : 630680413869 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D0 ivod ifeew HI, H, H3, H4, H3, H6, HT dndafn HE 5 b th oo ?):J:ofmv . (e ey 1P,
) ) oy 2P 0800 1) Sodd v 8P dowdh &) 0.

H3 Davoocd 9068 oa] 2. HS anboioo HS oy ociorndd ighen g ) . HS snbotoo HS g 2R oz
es00eeS DR 0. H3 obory H sucsg b e argiy Aaripary . HS, H3 0 D . H, H7 o
D) (. HS, H2 33 Didratpdey . H1 svbosto H atsg oo igoen DSRipary o

6 Y00 D 06 3005 wihyoc.

Options :

1 = H3,HS, H4, Heé, H2, H7, H1, H5

>  HI, H8, H4. H6, H2, H7, H3, HS

3 % HI, H8, H4, H6, H5, H7, H3, H2

4 % HI, H6, H4, H8, H2, H7, H3, HS

Question Number : 114 Question Id : 630680413870 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the following question below are given some statements followed by some conclusions based on those statements. Taking the
given statemments to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide
which of the given conclusion logically follows the given statements.

Statements:

L All Red are Black.

I1. Some White are Black.

Conclusion:

[ Some White are not Red.

I1. All Red are White.

Options :

1 % Only conclusion I follows

> % Only conclusion II follows

3. % Both conclusions I and IT follows

4. + Neither conclusion I nor IT follows

Question Number : 114 Question Id : 630680413870 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

800 38" £y s, D g 5 c@oﬁévw QNALOD. By DI Jeromore 300 o) D) orr
6:9) 00 0N ) Do 0D Ddridocsol o) STV ot bty wdyd pebied” AND whgo
QG BT BRIMFAR Aovodol:

2609
Lt 0w 75,
1157 phen o5,
)30

152 péien 06 ek
112 0w 26

Options :



- G700 | 0P 0000

- G070 11 &G0 9000005

5 5 80805 11 Boco 07, T ©R0R0J700)

4V 613‘&&_":0 | 5=5 F @U‘“&QD Il =5 DA esHBocc

Question Number : 115 Question Id : 630680413871 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conelusions based an those statements. Taking the
given stafements to be true even If they seem to be at variance from commonly known facts. Read al the conclusions and then decide
which of the given conclusion logically follows the given statements.

Statemens:

[ Some Lare Q.

ILAIRare Q.

Conclusion:

[ Some Q are L.

II. Some R are not L.

IIT. Some L are not Q.

Options :

1. % Both conclusions IT and III follows

2. % All conclusion follows

3 % Only conclusion II follows



» Only conclusion I and III follows

Question Number : 115 Question Id : 630680413871 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

300 396" By s, 7 setor 59) é‘ro*&vw QOGO AN RSOV JEromor 300 ToTres D) o
6:9) 00 00N ) Do 9 Ddrloctol o) STLTOM desod: oty wdyd gebded” 4N T gor
QG 80T BRI Aovodols

509:
LE) Lo Q

Il o) Rew Q.
)30

1§ QuL
L5 Rw L 5.
.59 Len Q 5

Options :

1 % 1080w Il Boco B0°) TP 900

S w O SO, TR 9B

2 % G070 11 &G0 9000005

4 G070 | 20805 1l @ 000300

Question Number : 116 Question Id : 630680413872 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



DR @) 3 &, D0 0070 s3] d0woTreD YERIY APDREO. & HEBIRRD Bord ef'atrwm 90000,
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LM>Q

[LO>R

Options :

- GOm0 [ &g D50

- G070 |l &G0 Dazo 90B

- @w&:&o | =5 S @D"ééﬂ Il 5=5 2550 57

| a0bos 1 Boco @D‘éﬁw 2850
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Question Number : 116 Question Id : 630680413872 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the question given below, relationships between different elements are shown in the statements. These statements are followed by
fwo conelusions. Give answer:

Statements:

[M2N<Q=P>Q>R

Conclusions;

[M>Q

[LO>R

Options :

1 = Ifonly conclusion I is true



» Ifonly conclusion IT is true

3. % If neither conclusion I nor conclusion IT is true

4. % If both conclusions I and II are true

Question Number : 117 Question Id : 630680413873 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Five boxes B1, B2, B3, B4 and BS are placed one above the other. Only two boxes placed above box B1. Only one box is placed
between box B1 and B4. Box BS is immediately above box B1. Box B2 is at the top. How many boxes are placed between B2 and
B4?

Options :

-

Question Number : 117 Question Id : 630680413873 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

och few B, B2, B3, B4 doBoso BS w6t 2,68 odagron. &5y B id 5o Dot dJew drgiad esocsuizon. 275y Bl

oBof B4 20§ a6 ) sdregid eocsacasnod. arsy B eidd ey Bl i 9 cotwod. a8y B2 02 S8 b god. B

ndod B4 20§ ) dkw Godagron?



Options :

-

Question Number : 118 Question Id : 630680413874 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aseries is given with one term missing. Select the correct alternative from the given ones that will complete the series.
GM, HO,IQ, IS, ?

Options :

1. % PQ

3 # ST

4.« KU

Question Number : 118 Question Id : 630680413874 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



248 D50 @izjffom 363 @aqCod. 36 P SN DTN PEPYAR) 0IFDY JocHE .
GM. HO.1Q.JS,?

Options :

1. % PQ

3. % ST

4, v KU

Question Number : 119 Question Id : 630680413875 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Asseries is given with one term missing. Select the correct alternative from the given ones that will complete the series.
WOQM, NRX, YSO, PTZ,?

Options :
1 = AMQ
2 % ART

3 % AMR

4 v AUQ

Question Number : 119 Question Id : 630680413875 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
28 Do e:ﬁﬁjnjﬁﬁ{mm 368 @00, 363D P B DT VEFYER) O JocoEod.
WOQM, NRX., Y50, PTZ,?

Options :

| % AMQ

> % ART

3 % AMR

4 v AUQ

Question Number : 120 Question Id : 630680413876 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Consider the following series made up of digits.
939341734435335915¢6°7
How many 3's are there which are immediately followed by an even mumber in the given series(when counted from left to right)?

Options :

[

1.4



Question Number : 120 Question Id : 630680413876 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

90308 &3y B 363D HHIDocsol

93934173 4435335915467

@&Qa 3035 EmR) TS 2B e0d 5:}(3‘3 ‘;’:}l Jew &) OGS Aot )G Gébo&m:)m)?

Options :

Question Number : 121 Question Id : 630680413877 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Consider the following series made up of digits.

4500921069009 4241717

How many 0’ are there which are immediately preceded by an odd number when counted from left to right in the series?

Options:



N
#
L]

Question Number : 121 Question Id : 630680413877 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
o080l &3y B 3689 HBIBocsol

4501921069009 4241717
f&‘a‘)&') 206" e ool HAES ejéboi'.ma’):)m SBEH aoc) 50 903 af)fﬁa Qf];\b 0 &) 6T 007

Options :

N
#
LN

Question Number : 122 Question Id : 630680413878 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Ina certain code language, ‘BECOME' s written as ‘DCEMOC’. What is the code for ‘CLOSER’ in that code language?

Options :

|« EIQQHP



, % EKQQGQ

5 » EIQQGP

4 » EIQQGQ

Question Number : 122 Question Id : 630680413878 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
08 D0 8 o', BECOME' 36 DCEMOC' 099 tratiexciods. 5 8 & erieS” ‘CLOSER' & doid?

Options :

| % EJQQHP

,, = EKQQGQ

5 v EIQQGP

4 » EJIQQGQ

Question Number : 123 Question Id : 630680413879 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rajesh walks 26 km towards South. He turns right and walks another 30 km. He again turns right and walks 35 km. In which

direction is his starting point now?

Options :

1 ¢ North-West



> % South-East

3. % South

4. % East

Question Number : 123 Question Id : 630680413879 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T 5Em0 22 26 8.0 ACEPE0, BB OEXY 800 208 30 &, 08K DEDPS 860 35 8. e @D B8
002 30 o B3 00!

Options:

EPQ‘.SJJECJTSO
1. %

e573y 0o
2. % =

3 % 5253

4 % E‘Z‘U‘JCDD

Question Number : 124 Question Id : 630680413880 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the related letter pair from the given alternatives.
GT:JTW 7



Options :

| % SF:QD

> « HU:KX

; « DQ:FS

4 % TG:RE

Question Number : 124 Question Id : 630680413880 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 P3G VYD DOV WrETD ETO 2O DWNS"O od JocHE ol
GT:IJW:?

Options :

| %« SF:QD

> v HU:KX

;5 « DQ:FS

4 % TG:RE

Question Number : 125 Question Id : 630680413881 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In the following question, select the related letter pair from the given alternatives.
NO:5R:7?
Options :

1.% NT:OL
2. % RU:AD

3.« JE:!IN

4 % NE:IS

Question Number : 125 Question Id : 630680413881 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

300 93)S°, AN PIPHIT) 03D 0d DoOHS LT BB JooE ol
NO:SR::7?

Options :

1. % NT:OL
2. % RU:AD

3.« JE:!IN

4 % NE:IS

Question Number : 126 Question Id : 630680413882 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.

Options :

1 % AACG
5 » KKMQ

3 « RRTY

4 # UUWA

Question Number : 126 Question Id : 630680413882 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
300 P&, @DND IR OO Aol Do TAE THAD DAFVTD) JotHEol.

Options:

1 % AACG
, » KKMQ

3 « RRTY

4 ® UUWA

Question Number : 127 Question Id : 630680413883 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.

Options :

1 % ELSZG

, » BIQXD

3 % YFMTA

4 % OVCIQ

Question Number : 127 Question Id : 630680413883 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
308 365", @YD DI 030 0C DT TBE T DAFTFTI) JotdE 0l

Options:

1 % ELSZG

, » BIQXD

3 % YFMTA

4 % OVCIQ

Question Number : 128 Question Id : 630680413884 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

In the following question, select the missing number from the given series.
100, 132, 165, 199, 234, 7

Options :

1 % 260

5 % 268

3 % 280

Question Number : 128 Question Id : 630680413884 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
30d D) e5°, QN 363 ol @&gﬁﬁoﬂa 202§ Dot ol
100, 132, 165, 199, 234, 7

Options :
1. % 260

> % 268

3 % 280

Question Number : 129 Question Id : 630680413885 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question. select the missing number from the given series.
110, 109, 105, 96, 80, ?

Options :

1.« 35

3. % 60

-

4. % 02

Question Number : 129 Question Id : 630680413885 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3o DB &5, QDD 33 ol @3}33"0&3&’) 20250 Dot ol
110, 109, 105, 96, 80, ?

Options :

1.« 55

3. % 060

-

4. % 02



Question Number : 130 Question Id : 630680413886 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If105@ 7#20=35and 110 (@ 11 #21 =31, then 120@ 6% 18="7

Options :

1. % 40

Question Number : 130 Question Id : 630680413886 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

105 @ 7 #20 =35 0boin 110 @ 11 #21 =31 e200a, 120 @ 6 # 18 =7

ey

Options :

1. % 40



Question Number : 131 Question Id : 630680413717 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.

Self-efficacy is_____ strength of your beliefs in your ability to complete tasks successfully.
Options :

1. % an

2. ¥ the

3. % a

4. * No article

Question Number : 131 Question Id : 630680413717 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.

Self-efficacy is_____ strength of your beliefs in your ability to complete tasks successfully.
Options :

1. % an

2. ¥ the

3. % a

4. % No article

Question Number : 132 Question Id : 630680413718 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.



Moon is nothing but natural satellite of earth.

Options:
1.4 a

2. % an
3. ¥ the

4. % No article

Question Number : 132 Question Id : 630680413718 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.

Moon is nothing but natural satellite of earth.

Options:
1.4 a

2. % an
3. * the

4. % No article

Question Number : 133 Question Id : 630680413719 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct
alternative.

Sanya has been taking tuition classes 2001.

Options :
1. % under

2. % by



3. ¥ since

4. * for

Question Number : 133 Question Id : 630680413719 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct
alternative.

Sanya has been taking tuition classes 2001.

Options :

1. # under
2. * by

3. ¥ since

4. % for

Question Number : 134 Question Id : 630680413720 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct
alternative.

He his haunches, hands folded and eyes on the floor.

Options:

1. # sitting upon
2. % satin

3. ® sitson

4. % sat on



Question Number : 134 Question Id : 630680413720 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A sentence has been given with a blank to be filled with an appropriate option. Choose the correct
alternative.

He his haunches, hands folded and eyes on the floor.

Options :

1. % sitting upon
2. % satin

3. # sitson

4. % sat on

Question Number : 135 Question Id : 630680413721 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.

Despite off these undercurrents, India did well to focus on the game and emerge on top.
Options :

1. ¢ Despite off these undercurrents

2. * India did well to focus

3. ¥ on the game and

4. % emerge on top.

Question Number : 135 Question Id : 630680413721 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.



Despite off these undercurrents, India did well to focus on the game and emerge on top.

Options :

1. ¥ Despite off these undercurrents
2. * India did well to focus

3. ¥ on the game and

4. % emerge on top.

Question Number : 136 Question Id : 630680413722 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.

Once the sun sets on the moon after the completion of one lunar day, temperature could plunge

above minus 200°C.

Options :

1. # Once the sun sets on the moon
2. * after the completion of one lunar
3. # day, temperature could

4. ¥ plunge above minus 200°C.

Question Number : 136 Question Id : 630680413722 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find the part of the sentence that has a grammatical error.

Once the sun sets on the moon after the completion of one lunar day, temperature could plunge

above minus 200°C.



Options :

1. ® Once the sun sets on the moon
2. # after the completion of one lunar
3. # day, temperature could

4. +# plunge above minus 200°C.

Question Number : 137 Question Id : 630680413723 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Options:

1. # When I was a shy person with

2. ¥ low self-esteem, I have avoided every

3. ¥ situation that might have been uncomfortable

4. % No error

Question Number : 137 Question Id : 630680413723 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error'.

Options :

1. ®¥ When I was a shy person with

2. ¥ |ow self-esteem, I have avoided every

3. # situation that might have been uncomfortable

4. % No error



Question Number : 138 Question Id : 630680413724 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Options :

1. * If you have ever wondered why

2. # successful people are more likely to

3. % achieve big goals, here had been your answer

4. * No error

Question Number : 138 Question Id : 630680413724 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Options :

1. # If you have ever wondered why

2. * successful people are more likely to

3. ¢ achieve big goals, here had been your answer

4. % No error

Question Number : 139 Question Id : 630680413725 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.

We have finished our essays, ?
Options :

1.



# did us
2. * have we
3. % haven't we

4. % dowe

Question Number : 139 Question Id : 630680413725 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
We have finished our essays, __ ?

Options:

1. % did us

2. ® have we

3. ¥ haven't we

4. % do we

Question Number : 140 Question Id : 630680413726 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
She can hardly move a leg, ?

Options :

1. # can't she

2. # has she

3. % couldn't her



4. % can she

Question Number : 140 Question Id : 630680413726 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
She can hardly movealeg, _  ?

Options:

1. # can't she

2. % has she

3. * couldn't her

4. % can she

Question Number : 141 Question Id : 630680413727 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.
Everybody adores Mrs Darwin.

Options :

1. * Mrs Darwin was adored by everybody.

2. ¥ Mrs Darwin was adored.

3. # Mrs Darwin has been adored

4. ¥ Mrs Darwin is adored by everybody.

Question Number : 141 Question Id : 630680413727 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.
Everybody adores Mrs Darwin.

Options :

1. * Mrs Darwin was adored by everybody.
2. ¥ Mrs Darwin was adored.

3. ¥ Mrs Darwin has been adored

4.+ Mrs Darwin is adored by everybody.

Question Number : 142 Question Id : 630680413728 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.

The robbers will steal that painting.

Options:

1. # That painting would be stolen by the robbers.
2. ¥ That painting will be stolen by the robbers.

3. ¥ That painting could be stolen by the robbers.

4. #® That painting can be stolen by the robbers.

Question Number : 142 Question Id : 630680413728 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the passive form of the given sentence.



The robbers will steal that painting.

Options:

1. # That painting would be stolen by the robbers.
2. ¥ That painting will be stolen by the robbers.

3. ¥ That painting could be stolen by the robbers.

4. #® That painting can be stolen by the robbers.

Question Number : 143 Question Id : 630680413729 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best

expresses the meaning of the Idiom/Phrase.

To chew the fat

Options :

1. # To get yourself in a trouble

2. ¥ Make unpleasant things better

3. ¥ To engage in casual or rambling conversation

4. ¥ To be kept waiting for sometime

Question Number : 143 Question Id : 630680413729 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best

expresses the meaning of the Idiom/Phrase.

To chew the fat

Options:



1. # To get yourself in a trouble
2. * Make unpleasant things better
3. ¥ To engage in casual or rambling conversation

4. ¥ To be kept waiting for sometime

Question Number : 144 Question Id : 630680413730 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To live by one’s wits

Options:

1. % To earn money by clever means

2. ¥ To live in peace

3. * To live life on one’s terms and conditions

4. % To be moody

Question Number : 144 Question Id : 630680413730 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To live by one’s wits

Options :
1. % To earn money by clever means
2. # To live in peace

3. #% To live life on one’s terms and conditions



4. % To be moody

Question Number : 145 Question Id : 630680413731 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the word that means the same as the given word.

Earnest

Options :

1. # Dalliance
2. % Hysterical
3. # Garrulous

4. ¥ Grave

Question Number : 145 Question Id : 630680413731 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the word that means the same as the given word.

Earnest

Options :

1. % Dalliance
2. % Hysterical
3. ¥ Garrulous

4. ¥ Grave

Question Number : 146 Question Id : 630680413732 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Choose the word that is opposite in meaning to the given word.
Inimical

Options :

1. ¥ Amiable

2. * Malign

3. # Cupidity

4. % Petty

Question Number : 146 Question Id : 630680413732 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the word that is opposite in meaning to the given word.
Inimical

Options :

1. % Amiable

2. * Malign

3. # Cupidity

4. % Petty

Question Number : 147 Question Id : 630680413733 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.

These charachters are not punished, exposed and exiled.

Options:



1. ¢ charachters
2. * exposed
3. # exiled

4. % punished

Question Number : 147 Question Id : 630680413733 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.
These charachters are not punished, exposed and exiled.
Options:

1. % charachters

2. ¥ exposed

3. * exiled

4. % punished

Question Number : 148 Question Id : 630680413734 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.

To succeed, a refrendum proposition requires a double majority.
Options :

1. * succeed

2. ¥ refrendum

3. % proposition



4. % majority

Question Number : 148 Question Id : 630680413734 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the incorrectly spelt word in the given sentence.

To succeed, a refrendum proposition requires a double majority.
Options:

1. # succeed

2. ¥ refrendum

3. * proposition

4. * majority

Question Number : 149 Question Id : 630680413735 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.
It has manufactures of ______ cloth, spirits and soap.
Options :

1. %* crash

2. ¥ cross

3. ¥ coarse

4, # course

Question Number : 149 Question Id : 630680413735 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.

It has manufactures of cloth, spirits and soap.

Options :
1. ®* crash
2. % cross
3. ¥ coarse

4, # course

Question Number : 150 Question Id : 630680413736 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.

A new of the texts is much to be desired.

Options:

1. % diction
2. * addiction
3. ¥ edition

4. % exhale

Question Number : 150 Question Id : 630680413736 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Select the most appropriate option for the given blank.



A new of the texts is much to be desired.

Options:

1. # diction
2. # addiction
3. ¢ edition

4. % exhale



